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13. Uncertainty principle is valid for

(A) Proton (B) Methane

(D) I pm sized platinum particles

Both (A) and (B)

I pm sized NaCl particles

(c)
(E)

74. The energy of an electron in the 35 orbital (excited state) ofH-atom is

(A) -l.5 eV (B) -13.6 eV (C) -3.4 eV

(D) -4.53 eV (E) 4.53 eV

75. Among the following, the molecule that will have the highest dipole moment is

(A) H, (B) HI (C) HBr

(D) HCI (E) HF

16. Which of the following pair have identical bond order?

(A) CII and Not (B) CN- and Oi (C) CN- and CM
(D) NOt and Oi (E) Ot and CM

77 A gas will approach ideal behaviour at

(A) Low temperatue and low pressure

(B) Low temperature and high pressure

(C) High temperature and low pressure

(D) High temperature and high pressure

(E) Low volume and high pressure

78. Pressure of ideal and real gases at 0 K are

(A) >0and0 (B) <0and0

(D) >0and>0 (E) 0and>0

(C) 0 and 0

Space for rough work
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79.

80.

81.

For the process

A 0, 0.05 atm,32"C)---, A (e,0.05 atm, 32'C),

The correct set of thermodynamic parameters is

(A) AG:0 and AS : -ve (B) AG:0 and AS: +ve

(C) AG : +ve and AS:0 (D) AG : ve and AS :0
(E) AG:0 and AS :0

Mixing of N2 and H2 form an ideal gas mixfure at room temperature in a

container. For this process, which of the following statement is true?

(A) AH : 0, AS,,..oun6;n, : 0, AS,r,1.. : 0 and AG : ve

(B) AH : 0, AS.u.,oun6i,g : 0, AS,r.1.. > 0 and AG : ve

(C) AH > 0, AS,,,,o,n6;ng : 0, AS.r.,". > 0 and AG : -ve
(D) AH < 0, AS.,..oun6;ng > 0, As"yrt". < 0 and AG : -ve
(E) AH : 0, AS.,,,o,n6;ng : 0, AS,y,r.- < 0 and AG : -ve

Which of the following is not true about a catalyst?

(A) Mechanism of the reaction in presence and absence of catalyst could be

different

(B) Enthalpy of the reaction does not change with catalysts

(C) Catalyst enhances both forward and backward reaction at equal rate

(D) Catalyst participates in the reaction, but not consurned in the process

(E) Use of catalyst cannot change the order of the reaction

I82. In the ln K vs. plot of a chemical process having ASo > 0 and AHo < 0 the
T

slope is proportional to (where K is equilibrium constant)

(A) -laH'l (B) IAH'I (c) as.
(D) -AS" (E) ac"

Spacp for rough work
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83. For the process

t

;A 
---B, at 298 K, AGo is 163 kJ mol r. The composition of the reaction

mixture is [B]: I and [A] : 10000. Predict the direction of the reaction and

the relation between reaction quotient (Q) and the equilibrium constant (K)

(A) forward direction because Q > K
(B) reverse direction because Q > K
(C) forward direction because Q < K
(D) reverse direction because Q < K
(E) it is at equilibrium as Q: K

84 Solubility product (K*) of saturated PbCl2 in water is 1.8 x 104 mol3 dm 
e

What is the concentration of Pb2+ in the solution?

(A) (0.45 , l0*)"'mol dm-3

(B) (1.8 , l0*)"'mol dm-3

(C) (0.9 , l0*)'6 mol dm-3

(D) (2.0, l0*)"'mol dm 
3

(E) (2.45, l0-)"' mol dm-3

85. The freezing.point of equimolal aqueous solutions will be highest for

(A) C6HsNHjCl (B) AgNO3 (C) Ca(NOr)z

(D) La(NO3)3 (E) D-fructose

E6. The molality of the 3M solution of methanol if the density of the solution is

0.9 g cm-3 is

(A) 3.73 (B) 3.0 (C) 3.33

(D) 3.r (E) 3.2

Space for rough work
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87.

88

89.

90

91.

Consider a fuel cell supplied with I mole of H2 gas and 10 moles of 02 gas. If
fuel cell is operated at 96.5 mA current, how long will it deliver power?

(Assume I F : 96500 C / mole of electrons)

(A) 1xl06s (B) 0.5x106s (C) 2x106s
(D) 4xl06s (E) 5x106s

Consider the equilibrium obtained by elecnically connecting zinc-amalgam

(Zn(Hg)) and HgO electrodes in mercury cell,

Zn(Hg) + HgO(s) +ZnO(s) + HC(r)

Under this equilibrium, what is the relation between the potential of the Zn(Hg)

and HgO electrodes measured against the standard hydrogen electrode?

(A) Zn(Hg) electrode potential is equal to HgO electrode potential

(B) Zn(Hg) electrode potential is more than HgO electrode potential

(C) HgO electrode potential is more than Zt(Hg) electrode

(D) Cell voltage at above said equilibrium is I .35 V

(E) Both (C) and (D)

10 g of MgCO3 decomposes on heating to 0.1 mole CO2 and 4 g MgO. The per

cent purity of MgCO3 is

(A) 24% (B) 44% (C) s4%
(D) 74% (E) 84%

The compound Na2CO3.x H2O has 50 % H2O by mass. The value of '1" is

(A) 4 (B) s (c) 6

(D) 7 (E) 8

Hybridisation of carbon in CHt

(A) ,p' (B) rp'
(D) sp3& (E) sp2d

(C) spld

Space for rough work
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92 The common features among CO, CN- and NOj are

(A) Bond order three and isoelectronic

(B) Bond order three and weak field ligands

(C) Bond order two and n-acceptors

(D) Bond order three and n-donors

(E) Isoelectronic and strong field ligands

93. Which of the following is covalent?

(A) NaCl (B) KCI

(D) MgCl, (E) CaCb

(C) BeCh

94. One mole of an unknown compound was treated with excess water and

resulted in the evolution of two moles of a readily combustible gas. The

resulting solution was treated with CO2 and resulted in the formation of white

turbidity. The unknown compound is

(A) Ca (B) CaH, (C) Ca(oH)z

(D) Ca(NOr)z @) CaSOa

95. When potassium is reacted with water, which compound(s) is (are) formed

preferentially?

(A) K2O (B) KO, (C) BothKzOandKO2

(D) K2O2 (E) K2O3

96. Purification of aluminium by elecholytic refining is called

(A) Hall's process (B) Froth flotation process

(C) Bayer's process (D) Hoope's process

(E) Serpeck's process

Space for rough work
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97

98.

99

Select the most appropriate statement

In BF3

(A) All the bonds are completely ionic

(B) The B-F bond is partially ionic

(C) B-F bond has partial double bond character

(D) Bond energy and bond length data indicates single bond character of the

B-F bond

(E) A11 the bonds are covalent

The inert gas found most abundant in the atmosphere is

(A) He (B) Ne (C) Ar
(D) Kr (E) xe

When MnO2 is fused with KOH and KNO2, a coloured compound is formed.

Choose the right compound with the appropriate colour

(A) K2MnOa, green (B) KMnOa, purple (C) Mn2O3, brown

(D) Mn3Oa, black (E) MnO2, black

100. Identify the case(s) where there is change in oxidation number

(A) Acidified solution of CrOa2-

(B) SO, gas bubbled through an acidic solution of Cr2O12-

(C) Alkaline solution of Cr2O12'

(D) Ammoniacal solution of CrOa2-

(E) Aqueous solution of CrO2Cl2 in NaOH

101. Water gas is produced by

(A) Passing steam over red hot coke

(B) Passing steam and air over red hot coke

(C) Burning coke in excess air

(D) Burning coke in limited supply of air

(E) Both (A) and (B)

Space for rough work
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102. The volume of oxygen liberated at STP from 15 rnl- of 20 volurne H2O2 is

(A) l00ml- (B) ls0ml- (C) 200mL
(D) 250 mL (E) 300 mL

103. Corundum is

(A) Silicate

mineral of aluminium.

(B) Oxide

(E) Nitrate

(C) Double salt

(D) Sulphate

104. The solution which does not produce precipitate when treated with aqueous

K2CO3 is

(A) BaCl, (B) CaBr2 (C) MgCl,
(D) Na2SOa (E) Pb(NO3),

105. If the boiling point difference between the two liquids is not much, then

_ method is used to separate them.

(A) simple distillation (B) distillation under reduced pressure

(C) steam distillation (D) fractional distillation

(E) differential extraction

106. Lassaigne's test (with silver nitrate) is commonly used to detect halogens such

as chlorine, bromine and iodine but not useful to detect fluorine because the

product AgF formed is

(A) volatile (B) reactive (C) explosive

(D) soluble in water (E) a liquid

L07. Protein is a polymer made of

(A) carbohydrates (B) amino acids (C) nucleic acids

(D) carboxylic acids (E) polycyclic aromatics

108. The letter'D' in D-carbohydrates represents

(A) dextrorotation (B) direct synthesis (C) confrguration

(D) mutarotation (E) optical activity

Space for rough work
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109. Phenol is a highly corrosive substance, but its 0.2 per cent solution is used as

(A) antibiotic @) antiseptic (C) disinfectant

(D) antihistamine (E) antacid

110. Name of the following reaction is

H H

1) COz NaOH ozH

2) H2SOa

(A) Reimer-Tiemann

(D) Gattermann

(B) Kolbe-Schmitt (C) Cannizzaro

(E) Gattermann-Koch

l1l. X and Y in the below reaction are -------------- and , respectively.

c615-co2H+x heat )c6H5-cocl H d/BaSOa Y
quinoline

(A) SOCI, andCrHsCHO (B) (COCI), and C6H5CH3

(C) SOCI2 and CrHsCHr (D) (COCD, and C6H5CH2OH

(E) SOCI2 and CeHsCHzCl

ll2. The reaction of propene with HBr in presence of peroxide proceeds through the

intermediate

(A) H3C-CH-CH3

Br

(c) nrc-Cn-tn,
(E) None of the above

(B) H3C-CH-CH2Br

(D) H3C-CHz-CHz

Space for rough work
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I13.. The major product P formed in the following reaction is

Cl2,FeCl Cl2,FeCl
PX

(A) I (B)cl (c) cl

(B) non-benzenoid and aromatic

(D) benzenoid and aromatic

I

(D) cl 1(E)

CI

ll4, The correct increasing order of the acid strength of acids, butyric acid (I),

2-chlorobutyric acid (ID, 3-ctrlorobutyric acid (II! and 2,2-dichlorobutyric acid
(IV) is

(A) I<II<III<IV (B) III<II<IV<I (C) I<III<II<IV
(D) III<I<II<IV (E) rV<III<II<I

115. Cycloheptatrienyl cation is

(A) non-benzenoidand non-aromatic

(C) benzenoid and non-aromatic

(E) non-benzenoidandanti-aromatic

Space for rough work
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116. The correct order of increasing reactivity of the following alkyl halides,

CH3CH2CH(Br)CH: (I), CH3CH2CH2CHTBT (II), (CHr)2CC1CH2CH3 (III) and

CH3CH2CH2CI (IV) towards Sy2 displacement is

(A) I<II<m<IV (B) III<I<IV<II (C) m<I<II<IV
(D) II<IV<I<III (E) I<III<II<IV

ll7. The strongest base among the following is

(A) amide ion (B) hydroxide ion (C) trimethylamine

(D) ammonia (E) aniline

118. The condensation reaction between one equivalent of acetone and two

equivalents of benzaldehyde in presence of dilute alkali leads to the formation

of

(A) benzalacetophenone (B) benzylideneacetone

(C) dibenzylideneacetone (D) benzoic acid and acetic acid

(E) only benzoic acid

119. The product Y for the below reaction is

NH2

CHCIr/3KOH Y

N
ilt

C

NH NH2 COOH
2

HO COOH

(A) (B) (c) (D) (E)

Space for rough work
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120. The product formed in the following reaction is

(cH3co)2o CI-CH2{OCl
2 product

3

(A)

CF

(c) NH2

H3c o
c[-H2c

(E) NH2

CIH,C o

NI{-cocH3 (B) H,fe-
COCI

NII-COCH3

NHz

H2

ocl

(D)
Hp

H

Space for rough work
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74.

73. Which clement has the highest first ionization potcntial?

(A) N (Il) Nc (C) tle (D) I-I (E) r.i

Wlrich staternent(s) is(are) falsc for the pcrioclic classification of clemcnts?

(A) I'hc properlies of the elements arc the periodic functions of thcir atouric

nurnbers

(B) Non-metallic elements are losscr in number tlran thc metallic clements

(C) 'l.hc first ionization cnergies of the clcrncnts along a periocl clo not vary in

a regular ulanller u,itir increase in atomic numbcr

(D) i"or transition clemclrts, the d-clcctrons arc fillcd monotonically with

increasc in atonric number

(f1) Iloth (C) ancl rD )

'l'he elcctronegati\ iries o1-\. C. Si and P are irr the order

(A) I'}<Si<C'<N iil) Si <P<N<C (C) Si<P<C<N

(D) I'}<Si<N<C rF:i Difficulttopredict

76. Gd(64) has unparred clcctrons with sum of spin _
(i\) 1.3.5 (t]) 8,3 (C) 6,3 (D) 8,4 (tr) 9,3.5

77. Whcn S02 gas is passcd into aqucous Na2COi the product(s) {orrned is(arc)

(A) NaHSO+ (ll ) \alSO I (C) NaHSO3

(D) NarSOr and NaIISO (L) \aiiSO+ and Na2SOa

Portland ceruelrt docs not contairr

/5.

(A) CaSiOa

(D) Ca3foa)2

(B) CaSiOr (C) Ca3A12O6

(E) Both (C) and (D)

Space tbr rouqir work
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79. Al2(SO4).r is used in the foliowing but not

(A) As a coagulant in treating drinki,g water and scr.vage

(B) In 1:lastics industry (C) As a rnordant in dyeing

(D) In paper industry (E) Both (C) ancl (D)

Maximurn number of covalent bonds formed by N and I) are

(B) 3,6 (c) 3.4, s

(E) None of the above

Consider the following staternents concerning N2II4

l. It is an exothermic compound
2. It burns in air with the evolution of heat
3. It has kinetic stability
4. It reduces Fe3* to Fe2n in acidic meciium

Which of the following combination is correct?

(A) 2 and 3 are comect (B) 1 ancr 2 are correct (c) Ar1 ::_ - ::..,ir

(D) 3 and 4 are correct (E) 2,3 and.4 are conect

Consider the fbllor.ving species

1. [or]'- 2. [co]* 3. [oz]*
Among these sigrna bond alone is present in

(A) I alone (B) 2 alone (C) 3 alone (D) 1ancl I - ,.Ianci3

81.

(A) 3,5

(D) 3,4,6

(A) l,2,3comect

(D) 1,3, 4 cortect

(B) 2, 3, 4 corect

(E) All are correcr

(C) 1,2,4 correct

83. Select thc con'ect option(s) fbr the following statenrcnts

1. Cl2O and ClO2 are used as bleaching agents

2. OCI- salts are used as cletergents

3. OCI- disproportionates in alkaline meclium
4. BrO3- is oxidized in acidic medium

Space for rough work
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'ql' \\rhen I{2o2 is added to an acidified K2cr2o7 solution

(A) A green colour solution is otrtaincd (B) A yellor.v solutio, is obtaincd
(c) A blue-r'iolet solution is obtained (D) A green precipitate is forrnecl

(E) A yellow precipitate is formed

Consider thc following cornpounds

i. (NI{a)2Cr2O7 2. NI{1NO2

85.

3. NII4VO t 4. NlI4NOs

86.

(tnot.

Which compound(s) yield nitrogen gas upon heating?

(A) t and} (B) 2 and,3 (C) 3 and,4 (D) I and4 (E) Ail

I{ow manr-llcroxy linkages are present in CrO5?

(A) I (B) 2 (c) 3 (D) 4 0j) s

l,4or.- tha, fbur bonds are macre by how many ele*ents in carbon farnily?

i-\i I (B) 2 (c) 3 (D) 4 (Ir) s

I he effective nuclear charge of an element with three valence electrons is 2.60.
\\-hat is the atomic number of the element?

(A) 1 (B) 2 (c) 3 (D)4 (E)s
89. l'he elution sequence of a mixture of cornpounds containing chloroben zctre,

anthracene and p-cresol developecl on an alumina column using a solve,t
system of progressively increasing polarity is

(A) anthracene -- chlorobenzene '-+ p_cresol

(B) anthracene --+p_cresol __- ohlorobenzene

(Cr) chlorobenzene -+p_cresol _> anthr.acene

D) chlorobenzefie ---+ anthracene _rp_cresol

:r p-cresol 
-> anthracene _) chlorobenzene

Space for rough work
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90. Number of constitutional isomcrs of alkane with lbrmula c6,IIla is

(A) 3 (B) 2 (c) s (D) 10 0r) 8

91. Phenylacetylene on treatment with HgSoa/FI2so4, H2o produces

(A) acetophenone (B) phenylacetaldehyde (c) phenylacetic acid

(D) l-phenylethanol (E) 2-phenylethanol

92. Which of the following compounds are aromatic?(- ??c,\(
ABCD

(A) A, B (B) A, B, C (C) B, C (D) B, C, D (E) A. B. D

93. Aromatic electrophilic substitution reaction that is reversible is

(A) nitration (B) chlorination (c) sulphonation

(D) alkylation (E) acylation

94. Which one of the following statements is false ?

(A) R and S configurations correspond to the enantiomers of an opticallr,
active compound

(B) The process of converting an optically active cornpound into a racematc is

called racemization

(C) A molecule containing a plane of symrnetry can be opticallr' active

(D) Optical isomers that are not enantiomers are called diasrc-reoisomers

(E) All chiral objects are asymmetric

Space for rough work
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99.

I

I

7

: '.' Jrllentyl broruide undergoes dehydrohal0genation 
tcr.:rough it has no B_hydrogen. l.his is ciue to

{) E2 nrechanism (B) EI nrechanisrn
1c) Rearrangernent of carbocations try Ei urechanisrn
(D) IllcB mechanism (E) Ili r:rechanisrn

I'hc compound which does
NaCN/DMSO is

(A) benzytchtoride 
Gt)

(D) chlorobenzene (E)

not lcad to nitrilc by substitution

aikeuos

cthyl chloridc (C) isopropyl chloriclc
isobutyl chloricle

97.

,T':::: jr 
r 

"'":hors 

ro ardehvclcs is verv successlur fbr rhc arcohors rikc(A) pcnt-2*yn_t_ol (B) 1-hexanot

(E) 1-octanol
(D) 1-pentanol

(Cl) iz-propyl alcohol

'['he 
compou,a that croes not u,dergo harofor"'r reaction is

(A) aceralclchydc

(D) acetophenone

(B) ethanol

(E) propiophenonc

(B) protonateci nitrous acicl

(C) acetonc

j:. i:::.: :",:o"rnd 
rvtiich wi, not rea* with phc,ol ro givc crrrcrs is(A) ethyl chloride (B) rnethyl ohlorjde (C) benzylchloriclc(D) vinyl chloride (E) allyt chloride

I fttl. fhe weakest arnong the fbllor,ving acids is
(A) peroxyacetic acid (B) acetic acid (Ct) chloroacetjc acicl, D) trichloroacetic acid (E) propanoic acid

'r 
':,,'J,l,,]fi::'"' ol lv,N-dirnethvlanitine rakes prace rhro,gh the a*ack ,r.

(A) nitronium ion

(C) nitrous acid (D) nitr-ite ion (1,) nitxrsouium ion
Space fo..nr_eh ,, u,L
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1{J2. The nitrogenous base present only in RNA is

(C) cytosine

103. Green fuel is the fuel obtained from

(A) bio-waste (B) metal waste (C) plastic w'astc

t04.

(D) chemical waste (E) electronic waste

Barbiturates are potent

(A) hypnotics (B) antimicrobials (C) antacids

(D) antiseptics (E) antiallergics

1 mole of F'eSOa (atomic weight of Fe is 55.84 g mol-r) is oxiclized to

Fe2(SOa)3. Calculate the equivatent weight of ferrous ion

(A) ss.84 (B) 27.e2 (C) 18.61

(D) 111.68 (E) 83.76

Mass '/o of carbon in ethanol is

(A) s2 (B) 13 (c) 34 (D) e0 (E) 80

One mole of ethanol is produced reacting graphite, H2 and 02 together. The

standard enthalpy of formation is -277.7 kJmofr. Calculate the standard

enthalpy of the reaction when 4 moles of graphite is involved

(A) -277.7 (B) -sss.4 (C) -138.8s (D) 4s.42 (E) -lll0.8

Which of the following process best describes atomization of CII+(g)?

(A) Exothermic (B) Endothermic (C) Non-spontaneous

(D) Spontaneous (E) Both (B) and (C)

105.

1 06.

107.

108.

Space 1or rough work

(A) guanine

(D) uracil

(B) adenine

(E) thymine
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109. Considcr the cquiliblium X2 + Y, 42 ?P. Fincl the stoichiornetric cocllicicnt

ol'the P using the data givcn in the following table.

X2lrnolLl Y2 / rnoi L-r P / mol L-r

1.14 x l0-2 0.12 x 10-2 2.52 x 10 
2

0.92 x l0-2 0.22 x 10-2 3.08 x 10-2

(A) 1 (B) 2 (c) 3 (D) 0.s (E) 4

of a reaction if thc standarcl
110. Which of the follo',ving can help preclict thc rate

Gibbs lree encrgy of reaction (A,G") is known?

Equillibriurlt constant (If ) Ar II' (c) A. u"

I-Ieat liberatcd durins rhe course of rcaction in calorirncter

Iloth (B) and (-.\)

(A)

(D)

(E)

1f1. Calculate the molarity of a solution contairirs
the product of a Hz - 02 fuel cell operated at 1

(Assume lF : 96500 C lmol of electrons and

as 40 g moft)

(A) 0.0s M (R) 0.025 M (C) 0.1 M (D) 0.07s rv{ U.) r M

ll2. If 1 mole of NaCl solute is clissolved into the I k-e of n,ater, at what
temperature will water boil at 1.013 bar ? (K6 of r.vater is 0.52 K kg rnol i)

5 g of NaOII clissolved in

A cument lbr 595.1 hours.

molecLrlar rveight of NaOII

(c) -17-i.19 K
(A) 373.|s K

(D) 373.19 K

(B) 313.61 K

(Ir) 37s K

Space for rough work
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113. c..onsider thc clcctrochenrical reai;tiotl between Ag(s) alid c'l'(g) clcctroiics ':r

1 litrc of 0.;1 M KCi aqueous solution. Sotubility product of Ag(-l is i s ' lt

andlr:95500C]/tnol'AtlpAcuncnt,calculatethetirrrereqr-tirccit0S'.:11

observing the AgCl precipitation in the galvanic cell

(A) 173 s

(D) 1.25 x 10s s

(B) 346 s

(E) 101 s

(C) 1.25 x 106 s

ll4.l.hevoltageofthecellconsistingofl-i(s)arrdF2(g)electrodcsis5,92Vat
stanciarclconditionat2g8K.WhatisthevoltagciftheetcctrolvtcconsistsoI

2 M LiF. (in 2 : 0.693, R=. 8'314 J K I inol-r andlr -' 96500 C rnol 
r)

(A) s.e0 V (B) 5'931Y (C) s'88 V (D) 4'9 v (I:l -r'8 V

ll5.Consiclertlregalvaniccell,Pt(s)]I{2(1bar.)}lC1taci)i1\IrCilrll,l:rl.tPt(s).Aftcr.

running the cell for sometime. the -^11-tr-lltrari()1r oi ri-i-- clL.ctro1)'tc

is automaticaily raised to 3 N'I HCl' \iolar conductivity of thc 3 \l liCl is

about 240 S .,,,rt ,rol-r and lirniting molar concluctivity of IICI is about

a

420 s cr,-mol '. If Ko of water is 0.52 K kg molr' calculate tlre boiling point ot'

the electroty'te at the end of the cxperiment

(A)37s5K(B)3763K(c)378'1K(D)380'3K(E)381'6K

116. 'l'he data givcn belo'uv are.for the reaction of A ancl D2 to Lcru procluct at

2g5K.Findthecoff{]ctrateexpressionforthisreaction.

Gti*l,"tt *"1 L rs 
'

l-1, / nrol L-' A / mol L-'

0.0s 0.0s 1.1o=l

0.15 0.05 J^ 10

0.05 0,15 9x 10-

(C) ,, i); \ll
(A)

(I))

lr[tl,l'[,4.]2

/r1tlrl21-,q.]2

/.[D2-12[A]'

/c[D2]1[A]o

(B)

(E)

Spu.e for rough work
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117. Find the unit of the rate constant of a reaction representecl with a rate equation,

rate: k;A1t/2yaf/2

(A) mol-r L s-r (B) q"l (C) mol L-r s-r

(D) mol-r Lr s-r (E) mol-3 L3 s-r

118. Under what condition the order of the reaction,

2gy --az93E!I{-;Hz (g) + lz (g) , is zero

(A) At high temperature (B) At high partial pressure of III

(C) At low partial pressure of HI (D) At high partial pressure of II,

(E) At high partial pressure of 12

119. Which of the following statement is true about the adsorption?

(A) AH<0andAS<0 (B) AH>0andAS<0

(C) AFI<0andAs>0 (D) AH-0andAs<0

(E) AH: 0 and AS > 0

l2A. In NH3 synthesis by I{aber's process, lvhat is the eff'ect on the ratc of the

reaction with the addition of Mo and CO, respectively'/

(A) Increases and decreases (B). Decreases and decreases

(C) Decreases and increases (D) Both Mo and CO increases the rate

(E) Both Mo and CO does not affect the rate

Space for rough work
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73. NO* has bond order

(A) 2

(D) 3.s

(B) 2.s

(E) 4

(c) 3

74. Which hydride amongst the following has the least boiling point?

(A) NH:

(D) SbH3

(C) AsH3(B) PH:

(E) BiH3

75. Which of the following sets has Lervis acid behaviour for all the components?

(A) BF: (B) BF3, SiFa, PF5 (C) SiF+, PF5

(D) BF3, PF5 (E) (A) and (B)

76. The carbon atoms in calcium carbide are held by

(A) Ionic bonds

(B) Two sigma bonds

(C) Two sigma and one coordinate bond

(D) One sigma and two n bonds

(E) One sigma and one n bond

77. According to the VSEPR theory, the shape of C1O3- would be

(A) Linear (B) Triangular planar (C) Pyramic:

(D) Square planar (E) Angular

78. Acetic acid in liquid ammonia behaves as

(A) Weaker acid than that in water

(B) Stronger acid than that in water

(C) Base acid

(D) Neutral acid

(E) (C) and (D)

79. The compound(s) that does(do) not exist is(are)

(A) BiF5 (B) PFs (C) AsF5

(D) SbFs ,) ' i (E) All the compounds exist

Space for rough work
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80. Rme gases are sparingly soluble in water because of
(A) Hydrogen bonding

(B) Dipole-dipole interaction

(C) Induced dipole-induced dipole interaction

(D) Dipole-induced dipole interaction

(E) (A) and (D)

81. An example of a non-stoichiometric oxide when heated is

(A) Beo (B) Zno (C) Meo

(D) Cao (E) LizO

82. The donor atom in EDTA are

(A) Two N and two O (B) Two N and four O (C) Four N and two O

(D) Three N and three O (E) Two N and three O

83. Hard acids prefer to combine with

(A) Soft bases (B) Soft acids (C) Hard acids

(D) Hard bases (E) Salts

84. Among the following, which species represents a pseudohalide?

(A) CN- (B) Cao (C) 12

(D) K:HgI+ (E) BiOCI

85. PClj is stored in a well stoppered bottle since

(A) It decomposes in the presence of moisture

(B) It is decomposed by light

(C) It is highly volatile

(D) It reacts with air to form POCI3

(E) (A) and (C)

86. An orange solid (A) on heating gives a green residue (B), a colourless gas (C)

and water vapours. The dry gas (C) upon passing over heated Mg gave a white

solid (D) which upon subsequent reaction with water gave a gas (E) that gave

dense white fumes with HCl. Identify (D)

(A) Fe(NH3)Cl2 (B) CuN2 (C) MgrNz

(D) NII4CI (E) FeC12

Space for rough work
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87. On passing silent electric discharge through oxygen in an ozlr..z;:. ,< -i mol % of
oxygen is converted to ozone. How many moles of o1 an.,i_i :;:.... qhen 35
moles of 02 is originally present?

88. Carnallite is a mineral containing

ll

(c) Mg

a bulb eapable of producing

is_,ifl00VandlAis

(C) 1 x 102i

(A) 33.0

(D) 31.8

(B) 34.4

(E) 31.0

(B) Na

(E) (A) and (c)

(A) K
(D) Fe

89. Maximum number of photons emitted by

monochromatic light of wavelength 550 nm

supplied for one hour.

(A) 1 , 1024

(D) 5 x 1023

(B)

(E)

5 x 1024

5 " 1022

90. Which of the following is the correct unit of angular momentum of an - r- . r. in

an orbital of an atom?

(A) Js

(D) Ws

r
(C) Wi s:

91. Consider afcc lattice made of a metal cation (M6*) and

unit cell. The resultant structure lvould have

(A) 3D netr.vork of edge shared octahedra

(B) 3D network of corner shared octahedra

(C) 2D network of edge shared octahedra

(D) 2D network of corner shared octahedra

(E) 3D network of face shared octahedra

(B) J/s
(E) J s2

three oxic,' -- -.s per

Space for rough work
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92. The e Jge ie:-sth of a soiid possessing cubic unit cell is 2Jir (structure I), based

ol :.':i sphere model, which upon subjecting to a phase transition, a new cubic

-..:*.iure (structure II) having an edge length of ) "obtained, 
rvhere r is the

VJ

:;orus of the hard sphere. Which of the follor,ving statements is true?

{A) Density of the structure II is lower than structure I

(B) Density of structure II is higher than structure I

(C) The pore volume in structure I is 1.2 times higher than that of structure II

(D) The pore volume of both the structures are equal

(E) The octahedral voids in structure I is transformed into tetrahedral voids in

structure II

An ideal gas "A" having volume of 1 L at 2l oC is kept in a container having

mor,able piston and adiabatic walls in ambient condition. If 1.33 L atm of

eners\/ is supplied inside the s1'stem. find out the final temperature of the

system?

(A) 3ee K (B) 4ee K (c) see K

(D) 2ee K (E) 4s0 K

A 5.2 L closed container contains some water and N2(g) at 29 'C. The total

pressure of the system and water tension are 1 atm and 0.04 atm, respectively.

Upon electrolysing the liquid water inside completely, the final pressure of

system ri'as at 2 atm. What is number of moles of water that was present inside

the container?

93.

(A)

(D)

(B)

(E)

3.46

RT

0.208

RT

(c) #5.2

RT

8.0

RT

Space for rough work
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95. A solution of methanol in water is 20 % by

methanol have densities of 0.964 kg L-r and

per cent of methanol by weight?

volume. If the solution and pure

0.793 kg L-', reqpectively, find the

(C r :

: t-).5 and 86

rCr .

97.

The Henry's law constant for 02 dissolved in water is 4.34 x 10r arn-. at certain

temperature. If the partial pressure of 02 in a gas mixture that is in eq'-.ilibrium

with water is 0.434 atm, what is the mole fraction of 02 in the solution?

(A) I x 10-s

(B) 1 x 104

(C) 2 x l}-s
(D) 1 x 10{
(E) 2 * l}a

The standard heat of formation of CHa, Co2and H2o (l) are -16.2, -394.8 and

-285.82 kJ mol-r, respectively. Heat of vaporizatron of \\'ater is 44 kJ mol-l.
Calculate the amount of heat evolved when 22.4 L of CH-,. kept under normal

conditions, is oxidized into its gaseous products

(A) 1s.8

(D) 14.8

(A) 802 kJ

(D) 788.4 kJ

(A) 1.62 and 98.3

(D) 1 and 98.3

(B) 16.4s

(E) 17.6

(B) 878.4 kJ

(E) 500 kJ

(B) 0.81 and 98.3

(E) 1.4 and 99

rC - : ..'"'

Acetic acid dimerizes when dissolved in benzene. As a res*,: : - ..::s point of the

solution rises by 0.36oc, rvhen 100 g of benzene is mire: ,'.,::. "-\" g of acetic

acid. In this solution, if experimentally measured moi::....: ',reisht of acetic

acid is,117.8 and molar elevation constant of benzene is I :- K kg mol-r, rvhat

is the weight Yo and degree of dissociation (in %) of acei1. ,:.; in benzene?

99. At a certain temperature, 2 moles of CO and 4 moles of C"; _i:s;-i ,.,. ere reacted to

form COC12 in a 10 L vessel. At equilibrium if one mole ;- rli,*r ;s tresenr then

equilibrium constant for the reaction is

(A) 4

(D) 2.s

(B) 3.3

(E) 4.s

Space for rough work
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1r.rt-t. The equiiibrium constant

lN: (g) + 6Hr 3 +NH3 (s)

between Kr and Kz is

(A) Kz: Kr2

(D) Kr: J(

t02.

for the reaction, Nz(g) +3Hr;=:2NH3(S) and

are K1 and Kz, respectively. The relationship

(B) K:: Kr-2

(E) Kr = JKz

(C) Kr : Kz2

101. For a first order reaction, A(g) --- B(g) at 35 oC, the volume of "A" left in the

reaction r,essel at r arious times are given below. [Given data: log(514):0.09691

I / minutes 0 10 20 30 40

VimL 25 20 15.7 t2.s 9.6

\\'hat is the value of rate constant?

(C) 0.06231 min-l(A) 0.02231 min I (B) 0.04231 min I

(D) 0.08231 minr (E) 0.1231 minr

E..x of the following cell is

Pt(s) lHz(s), 1 bar lH- (1 M) ll H- (0.1 M) 1H:(-e), 1 bar lPt(s)

-2.303RT(A) 
F

(B) rsll
(E) #

-2.303RT
2F

(C) 0.0093 moles

(c)

(D)
2.303RT

(A) 0.0373 moles

(D) 0.0268 moles

(B) 0.0186 moles

(E) 0.0400 moles

2F

103. In a lead-acid battery, if 1 A current is passed to charge the battery for t h, what

is the amount of PbSO+ converted to PbO2? (Given data: 1 F :96500 C mol-r)

Space for rough work
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104. A fuel cell operates at constant current, with H2 fuel (1 bar) and 02 oxidant

(1 bar). The electrolyte used is 0.001 M HCI and the product(s) of the reaction

are confined inside the fuel cell. Which of the following is true about the

electrolyte?

(A) Boiling point of the electrolyte decreases with increase in the duration of

fuel cell operation

(B) Boiling point of the electrolyte increases with increase in the duration of

fuel cell operation

(C) Open circuit voltage of the fuel cell remains constant with increase in

duration of operation

(D) Open circuit voltage of the fuel celI increases with increase in duration of
operation

(E) Both (A) and (C)

105. The correct IUPAC name for methylisopropylacetylene is

(A) 2-methyl-4-pentyne

(B) 4-methyl-2-pentyne

(C) isopropylmethylacetylene

(D) 3-methyl-4-pentyne

(E) 2-methyl-3-pentyne

106. Cyclohexylamine and aniline can be distinguished by

(A) Hinsberg's test (B) Carbylamine test (C) Br,-.rnrne test

(D) Beilstein's test (E) Lassaigne's test

107. The compounds pyridine and planar cyclooctatetraene are

respectively

(A) aromatic and non-aromatic

(B) aromatic and anti-aromatic

(C) aromatic and aromatic

(D) anti-aromatic andnon-aromatic

(E) anti-aromatic andanti-aromatic

Space for rough work
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108. Propvlene on treatment with HBr/FI2O2 provides

r{r 1-bromopropane (B) 2-bromopropane (c) I,2-dibromopropane

D, 1-bromopropan-2-ol (E) 2-bromopropan-1-ol

I {.rq. is a potent vasodilator.

-. :l:stamine (B) Serotonin (C) Codeine

lr r- :retidine (E) Aspirin

tr 1tl. :.- .:'. ;:: sugar is

..,:otatory (B) Levorotatory (C) Dextrorotatory

I -:,rca1ly inactive (E) Mutarotatory

1 1 1. :'. :.: :gest base among the following is

:. 
".i- 

(B) oH- (C) CH:C-
: _-i.CH2- (E) OEr-

1 l: , -: :: -:enryl halide in ethanol yields alkenes by El mechanism due to
r. , "i, .oncentration of solvent

!' ::s;lce ofbase

- : ,s a primary halide

I ::::.c factor which prevents E2 mechanism

: . -.',:iion effect

1 13. -.- . :: . :rrdes are not good candidates for

i ',1. 
-:iz-Fittig reaction

ts : .:.g reaction

rC f :r:del-Crafts reaction

(D r Gr.nard reaction

(E) Ga:r:el-phthalimide synthesis

114. Sulfonation of benzene with excess sulfuric acid provides

(A) benzenesulfonicacid

(B) p-benzenedisulfonic acid

(C) o-benzenedisulfonic acid

(D) m-benzenedisulfonic acid

rE) decomposition of benzene

Space for rough rvork
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115. The following reaction is named as

is reduced with LiAlH.. ile product formed has

(B) 3

(E) 8

(B) benzyl alcohol

(E) styrene

fl\cHo KoH 6\r-coox
U.ro 

'*" 
* U"r,o,

(A) Reimer-Tiemann

(B) Kolbe-Schmitt

(C) Cannizzaro

(D) Gattermann

(E) Aldol

116. When C6H5COCOC6H5

stereoisomers.

(A) 2

(D) 6

(A) toluene

(D) /-butylbenzene

(c) 4

117. The compound which does not lead to benzoic aci; : . -'...i:tion rvith KMnOa is

1l r rz-butylbenzene

118. In the Hofmann rearangement of primary amides har-:- .:. :'l.r'active group

with S-configuration, the product amine has

(A) R-configuration

(B) S-configuration

(C) Racemic mixture

(D) Meso form

(E) Achiral nature

Space for rough work
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lL9. Benzonitrile can be prepared from benzaldehyde on treatment with

(A) NH3

(B) NH3 followed by hydrogenation with Ni

(c) NH2OH

(D) NH2OH followed by dehydration with acetic anhydride

(E) Hydrogen cyanide

120. The product formed in the below reaction is

CH" O

lo" cr
H3C-N-CH3

li,,\ 
H2SO4/HNO3

\2
CH" O CHa O

lo" cr lo" cl
H3C-N-CH3 HsC-T-CH,

(A)ry (B) O*o,

product

CH. O
lo- cl

H3C-N-CH3

,\-*o,(D) 
V

Noz

CH. O
lo" cr

H3C-N-CH3

(E) 
?_".

Noz

CH" O
lo" cl

H'c-r[cH'

(c) v
Space for rough work
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73. which one of the following will have the largest number of atoms?

74- An organic compound contains 24%o carbon,4Yohydrogen and remaining chlorine. Its

(A) 1g Au(s)

(D) 1g of Clz(g)

empirical formula is

(A) CHC1

(D) CHrCI

(A) 102

(D) 106

(B) 1g Na(s)

(E) 1g of oz(e)

(B) CHzCI

(E) CHzClz

(B) 110

(E) 100

(C) 1g Li(s)

(c) cHClz

75. The IUPAC name of an element is Unbinilium. Its atomic number is

(c) 120

76. The number of electrons, protons and neutrons in a species are equal to 10, ll and 12

respectively. The proper symbol of the species is

(A);1 xu- (B) 
?i xu (c) 

?i x. (D) ]i xu. (E) 
?i Nu'*

Space for rough work
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77. Which one of the following element is represented as Eka-Silicon in Mendeleev,s

periodic table?

(A) Galliurn (B) Germanium (C) Aluminium

(D) Tin (E) Arsenic

78. The correct match among the follor,ving is

(a) Lithiurn, Sodiuffi, Potassium

(b) Beryllium, Magnesium, Calcium

(c) Oxygen, Sulphur, Selenium

(d) Silicon, Germanium, Arsenic

(A) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(B) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)

(C) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(E) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(i) Alkaline earth metals

(ii) Semi-metals

(iii) Alkali metals

(iv) Chalcogens

(c) sFo (D) [Co(NH:)u]'* (E) [pt(cl)*]r-

79. which one of the following molecules is formed by'sp3d hybridisation?

80. The correct order of bond energy (in kJ/mol) of the follorving molecules is

(C) Cz<Oz<BzcNz

81. The type of attractive forces that operate between gaseous HCI molecules is

(A) dipole-dipole forces (B) dispersion forces

(C) ion-dipole forces

(E) electrostatic forces

(D) dipole-induced Cipcle forces

(A) BrFs (B) PFs

(A) Oz<Bz<Cz<Nz

(D) Bz<Oz<Cz<Nz

(B) Bz<Cz<O:<N:

(E) Bz<Oz<Nz<C:

Space for rough u,ork
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82.

93.

84.

Schottky defect is shorvn by

(A) ionic substances in which the size of the cation is smarer than that of the anion(B) ionic substances in which the cation and anion are of almost similar sizes(c) ionic substances in which the size of the cation is larger than that of the anion(D) non-stoichiornetric inorganic solids
(E) non-ionic substances

In which one of the following reactions, e,tropy decreases?
(A) Sodium chloride is dissolved in water
(B) Water is heated fi.ora 303K to 353K
(C) Sodium bicarbonate is decomposed to Na2CO3(s), COz(g) and HzO(g)(D) Water crystallizes into ice

(E) Dihydrogen morecure is decomposed into hydrogen atoms

The standard enthalpies of fonnation of HeO(l) and COz(g) are respectively-286 kJ mol-r and -3g4 kI mor-r. If the standard heat of combustion of cHa(g) is-Set kJ mol-r, then the standard enrhalpy 
"i;;;;;;, "r.*f*l ,,(A) _75 kJ mol-r (B) +zs kJ mol_r G) 11r kJ mol_r(D) +2il kJ rnol-r (E) *1571 kJ mol_r

Space for rough work
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85.

86.

87.

88.

The equilibrium constant for the equilibrium PCls(g) 
=: 

PCl3(g) + Cl2(g) at a

particular temperature is 2 x 10-2mol dma. The number of moles of PCls that must be

taken in a one-litre flask at the same temperature to obtain a concentration of 0.20 mol

of chlorine at equilibrium is

(c) 1.8(A) 2.0 (B) 2.2 (D) a.2 (E) 0 1

The pH of the resultant solution obtained by mixing 20mL of 0.01M HCI and 20rnl

of 0.005M Ca(OH)2 is

(A) 2 (B) 0 (D) 7 (E) s

CH+(B) + 4Clz(e) -+ CCl+(l) + 4HC1(e)

In the above reactiotr, the change of oxidation state of carbon is

(c) I

(A) from +4 to -4

(D) from -l to +1

(A) 0.60 mol

(D) 0.45 mol

(B) from + I to +4

(E) from -4 to -1

(C) from l to +4

cathode when 0.40 F cit

(C) 0.40 mol

Horv many moles of platinum will be deposited on the

electricity is passed through a 1 .0 M solution of Pt4*?

(B) 1.0 mol

(E) 0.10 mol

Space for rough work
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S9,

90.

\\-hen the same amount of the solute 'P' and 'Q' are separately dissolved in 5009

warer, the ATr values are 0.15K and 0.30K respectively. If the molecular weight of 'P'

is 80 g mol-l, then the molecular weight of 'Q'is

(C) 40 emol-l

A solution is prepared by dissolving 20g NaOH in

0.8 glmL. Then the molality of the solution is

(A) 30 g mol-l

(D) 45 gmofl

(A) 0.2mol kg-'

(D) 0.0064 mol kg-t

(A) 15 kJ mofr

(D)-15 kJ mol-r

(B) 60 S mol-l

(E) 160 g mol-r

(B) 0.08 rnol kg t

(E) 0.5 mol kg '

(B) 11 kJ mol'l

(E) 26klmol-l

1250 mL of a solvent of density

(C) 0.25 mol kg '

91. The rate constant of a first order reaction is 231 x 10-t s-'. How long will4 g of this

reactant reduce to2 g?

(A) 310 s (B) 300 s (C) 210 s (D) 30.1 s (E) 23as s

has an activation energy of 13 kJ mol-.r and the

2 kJ mol-l . The activation energy of the reaction

(C) }kI mofl

'92. An endothermic reaction A B

enthalpy change for the reaction is

B-+Ais

Space for rough work
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93. Adsorption is accompanied by

94.

(A) decrease in enthalpy and decrease in entropy

(B) increase in enthalpy and decrease in entropy

(C) decrease in enthalpy and increase in entropy

(D) increase in enthalpy and increase in entropy

In the coagulation of a positive

and Cl- decreases in the'order

(A) PO+3-> Cl-> SO+2-

(E) SO+2-> PO+3*> Cr

(D) Calcium nitrate (E) Potassium nitrate

So+2-

(B) PO+3-> SO+2-> Cl- ']

(D) Cf > pO+3-> SOo2-

95. Which one of the following nitrates does not give the corresponding metallic oxide.
nitrogen dioxide and oxygen on heating?

(A) Lithium nitrate (B) Beryllium nitrate (C) Magnesium nitrate

Plry-Chy-I-A ll2A20 26
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96.

97.

98.

which of the follorving statement is incorrect about beryllium?

(A) Beryllium hydroxide is amphoteric'

(B) Beryllium colnpounds are largely covalent'

(C) Beryllium is not easily attacked by acids'

(D)Beryllium exhibit coordination number of six'

(E) Beryllium hydroxide dissolves in excess of alkali to give a beryllate ion'

The oxyacid of phosphorus that contains one P-OH, two P-H and one P:O bonds is

(A) Phosphinic aciC

(C) PyrophosPhoric acid

(E) PyrophosPhorcus acid

(B) Phosphoric acid

(D) HypophosPhoric acid

Choose the correct statements about diborane

I. It is prepared by the oxidation of sodium borohydride with iodine'

[[. It undergoes cleavage reactions with Lewis bases to give borane adducts'

ru. It is produced on an industrial scale by the reaction of BF: with LiAlH4'

IV. It is readilv h1'drolysed by water to give borazine'

V. It burns in oxi'gen and gives boron trioxide'

(A) I, II, III (B) I, II, V (c) I, II, IV (D) II, ilI, IV (E) I, III, V

gg. Which one of the following actinoid has no electron in 6d orbital?

(AiF: B) Np (C) Lr (D) Cm (E) Pu

r--1:

i
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100. The catalyst used in the Wacker process of oxidation of ethyne to ethanal is

(A) Silver (B) Nickel (C) pdcl:

(D) VzOs (E) Ziegler catalyst

101. The correct formula of dichlorobis (triphenylphosphine) nickel(Ii) is

(A) [NiCl2@Ph3)2]Cl (B) fNiCh(PPh3)l (C) F1ci2(pph2)31

(D) rNicl(pph3)2lcl (E) tNiclr(pph3)21

102. Which one of the following is an ambidentate ligand?

(A) Cr (B) H2O (c) H:\cHzcHzNHz

(D) SCN- (E) C2O+2-

103. Which one is not correctly matched?

Ore Composition

(A) Siderite - FeCOr

(B) Calamine - ZnCOt

(C) Sphalerite - ZnS

(D) Kaolinite - IAlr(OH)aSizOsl

(E) Cuprite - CuCOr.Cu(OH)z

104. which one of the following is a benzenoid aromatic compound?

(A) cyclooctatetraene (B) Hexyne (c) cyclohexane

(D) Toluene (E) Cyclopentadiene

105. The products obtained by the ozonolysis of 2-methylbut-1-ene are

(A) propanone and ethanal (B) propanone and methanal

(C) butanone and methanal (D) ethanal and propanal

(E) butanone and methanol
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106. Which one of the following is not an isomer of 3-methylbut-l-yne?

(A) 2,3-Dimet$lbuta-1,3-diene (B) Pent-l-yne (C) Pent-2-yne

(D) Penta-1,3-diene (E) 2-MethYlbuta- 1,3-diene

la1 . The compound that does not undergo hydrolysis by SN 1 mechanism is

(C) CoHsCl

108. Which one of the following is a secondary alcohol?

(A) CoHsCHzCl

(D) CH:CHzC1

( A) 2 -methYlbu tan-Z-ol

(D) 3 -methYlbutan-2-ol

(B) CoHsCH(CHr)Cl

(E) CoHsCH(CoHr)Cl

(B) 3-methYlbutan- 1 -ol

(E) 2,2- dirnethYlbutan- 1 -ol

(B) Toluene

(E) Benzyl alcohol

(C) 2-methYlbutan- 1 -ol

CzHoO forms 2,4-DNP derivative

with conc. KOH, it gives sodium

(C) AcetoPhenone

109. An organic compound 'A' with molecular formula

and reduces To[ens' reagent. when 'A' is heated

benzoate and compound 'B'. The compound 'B' is

(A) Benzene

(D) BenzaldehYde

j
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110. Which one of the following compounds would undergo Cannizaro reaction?

(A) 2-Methylpentanal (B) cyclohexanone (c) Z,2-Dimethylbutanal

(D) l-Phenylpropanone (E) Phenylacetaldehyde

111. Which one of the follorving can be prepared by Gabriei phthalimide s-Ynthesis?

(A) 2-Aminotoluene (B) Aniline (c) 4-Bromoaniline

(D) Allylamine (E) N-Methylethanamine

ll1. The reagelt that is used to distinguish between a secondary amine and a tertiary

amine is

(A) p-toluenesulphonyl chloride (B) dil. Hcl (C) dil. NaOH

(D) CHC13 and alc. KOH (E) bromine $rater

113. Choose the correct statement of the following , i :

(A)Cellulose is also known as animal starch- I

(B)A linkage between two monosaccharide units through oxygen atom is called oxide

linkage.

(C) Glucose on oxidation with bromine water gives n-hexane'

(D)Carbohydrates are used as storage molecules as starch in animals.

(E) Water insoluble component of starch is amylopectin'

1L4. Among the following which one is a non-reducing zugar? 
,,

(A) Lactose (B) Glucose (C) Sucrose (D) Maltose (E) Fructose

Spac e i,: : : - -- 
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(D) Me I arnine-formaldehyde

1f6. Which one of the following sets forms the biodegradable polymer?

(A) 3-Hydroxybutanoic acid and 3-hydroxypentanoic acid.

(B) Acrylonitrile and 1,3-butadiene.

(C) Urea and formaldehyde.

(D) Ethylene glycol and terephthalic acid.

(E) Adipic acid and hexamethylene diamine.

ll7. The antimicrobial drug that contains arsenic is

the follorving polyrner is a copolymer formed by condensation

(B) Neoprene

(E) Buna-N

(C) Polythene

(B) Salvarsan

(E) Sulphanilamide

(C) Sulphepyridine

(B) Ofloxacin

(E) Terpineol

(C) Norethindrone

12a. which one of the following is a greenhouse gas?

I15. Which one of

polymerisation?

(A) Buna-S

(A) Prontosil

(D) Ofloxacin

(A) Bithionol

(D) Aspartame

(A) Methane

(D) Acetylene

(B) Ethane

(E) Ethylene

(C) Hydrogen sulphide

118. Which one of the following statements is not correct?

(A)AII monosaccharides are reducing sugars.

(B)Lactose is commonly known as milk sugar.

(C) Glucose pentaacetate does not react with hydroxylamine.

(D)Glucose does not give 2,4- DNP test.

(E) Glucose on oxidation with bromine water, gives saccharic acid.

119. Which one of the following is an antifertility drug?
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